| have
Answer:

B2

apples in the fridge.

There aren't

bananas left.

Answer:

How oranges do you want?

Answer:

There's sugar in the cupboard.

Answer:

We need to buy tomatoes for the recipe.
Answer:

| don't have time to cook dinner tonight.
Answer:

Can | have milk in my coffee?

Answer:

There were people at the party.

Answer:

| ate chocolate cake for dessert.
Answer:

She bought bottles of water for the trip.

Answer:




| have

Answer: many

There aren't

Answer: any

Answers

apples in the fridge.

bananas left.

How oranges do you want?

Answer: many

There's
Answer: some

We need to buy

Answer: enough

| don't have
Answer: much

Can | have
Answer: some

There were

Answer: many

sugar in the cupboard.

tomatoes for the recipe.

time to cook dinner tonight.

milk in my coffee?

people at the party.

| ate chocolate cake for dessert.

Answer: much

She bought
Answer: some

bottles of water for the trip.



